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NEW QUESTION 1
What two best describe self-healing functionality on vEdges? (Choose two.)

A. Software reconfiguration capability allowing for dynamic reconfiguration of existing channels

B. In software upgrade process, rolling back to the previously running software image when connectivity to vManage fails
C. vManage detect routing outage detection to detect reachability outages and understand their scope and likely root cause
D. With configuration change, rolling back the configuration change when loss of connectivity to vManage

Answer: BD

NEW QUESTION 2
What is the maximum # of concurrent endpoint with a distributed deployment?

A. 500,000
B. 20,000
C. 10,000
D. 100,000

Answer: A

NEW QUESTION 3
Which two products are supported as “Extended” in DNA-C 1.1? (Choose two.)

A. IE switches

B. Catalyst 6807

C. Catalyst 3560-CX
D. M3 Line cards

E. AP 3800

F. Catalyst 4500-E

Answer: AC

NEW QUESTION 4
How does identity management solve two customer problems? (Choose two.)

A. Enables and enforces 802.1X across the network platform
B. Manages group membership

C. Provides network visibility and security

D. Increases digitization

E. Achieves dynamic and adaptive network segmentation

Answer: CE

NEW QUESTION 5
Which two platforms can host a vEdge Cloud Router? (Choose two.)

A. Microsoft Azure
B. Dreamhost

C. AWS

D. DigitalCloud

E. Google

Answer: AC

NEW QUESTION 6
Which two factors are used in calculating the Cisco SD WAN — 1yr, 3yr, or 5yr subscription cost? (Choose two.)

A. Service Bandwidth
B. Security

C. Routing Protocol

D. Features

E. Hypervisor Platform

Answer: AD

NEW QUESTION 7

Which options are Network Access Device types?

A. Switches, Wireless Controllers, and VPN Gateways
B. Wireless Controllers, Routers, and VPN Gateways
C. Switches, Wireless Controllers, and Routers

D. Switches, Routers, and VPN Gateways

Answer: A
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NEW QUESTION 8
How many bytes does a VXLAN header add to an original Ethernet frame?

Answer: B

NEW QUESTION 9
Which two are benefits from a WAN design? (Choose two.)

A. Prioritize and secure with granular control

B. Reduce cost and increase operational complexity
C. Lower circuit bandwidth requirements

D. Provide lower quality service to guest users

E. Ensure remote site uptime

Answer: AC

NEW QUESTION 10
Which three statements are true regarding Cisco SDWAN license tiers? (Choose three.)

A. With Pro license, control and data policies are supported

B. With Plus license, split-tunnel is supported

C. With Pro license, unlimited segmentations are supported

D. With Plus license, Hub and spoke, partial mesh are supported
E. With Enterprise license, vAnalytics is included

F. With Enterprise license, TCP optimization is not supported

Answer: ABE

NEW QUESTION 10
Which protocol is used between an Endpoint and a Switch with an 802.1 authentication?

A. RADIUS
B. EAP
C. MAB
D. TACACS

Answer: B

NEW QUESTION 13
What is an example of Correlated Insights for SDA and Switching?

A. Excessive Onboarding Time
B. Roaming Pattern Analysis
C. Control Plane Reachability

D. AP License Utilization

Answer: C

NEW QUESTION 15
Which three options describe fabric overlay concepts? (Choose three.)

A. A link state routing protocol like OSPF

B. A virtual Local Area Network

C. An Overlay uses alternate forwarding attributes
D. GRE is a type of Overlay

E. Intermediate System to Intermediate System

F. An Overlay is a logical topology

Answer: BDF

NEW QUESTION 20
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